1. [Is balanced with no deficit]

Given the state of Canada's economy today, to what extent do you support or oppose the government proposing a budget that...

\ Gender AGE EDUCATION
‘ Total Male Female 18-34 35-54 55+ <HS HS Post Sec Univ Grad
A B C D E F G H I
Base: All Respondents 1008 464 544 244 400 364 46 192 432 338
Weighted 1008 489 519 281 373 354 91 367 395 155
\Is balanced with no deficit
Strongly support 394 217 177 104 142 149 41 125 165 63
39% 44% 34% 37% 38% 42% 45% 34% 42% 40%
B *
Somewhat support 353 143 210 101 148 104 33 145 126 50
35% 29% 40% 36% 40% 29% 36% 40% 32% 32%
A E *
Somewhat oppose 188 85 103 59 55 73 9 80 72 26
19% 17% 20% 21% 15% 21% 10% 22% 18% 17%
*
Strongly oppose 72 43 29 17 28 28 8 16 32 16
7% 9% 6% 6% 7% 8% 8% 4% 8% 11%
* G
Top2Box (Support) 748 360 387 205 290 252 74 270 291 113
74% 74% 75% 73% 78% 71% 81% 74% 74% 73%
*
Low2Box (Oppose) 260 129 132 76 83 101 17 96 104 43
26% 26% 25% 27% 22% 29% 19% 26% 26% 27%

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/I
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/I
Minimum Base: 30 (**), Small Base: 100 (*)
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